4041 & 4041DA PUSH SIDE (TOP JAMB) DROP PLATES
PERMITS 120° MAXIMUM OPENING

PUSH SIDE MOUNT ON:
4040-18TJ DROP PLATE

4040-18TJDS1 DROP PLATE

Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

1
JAMB 8
=L INE MW_G_ »
e 2 2 al | L
2% 43 32
[
ol RGE A eGPy \
A
I \
____H\_ —_—
\r 1\____-ﬁ'ﬁ r—-’\___,____/r A\ _\\
} (] \
l T—® TOP OF
l , DOOR
!
\ 3 | 115 — 1=
" _DOOR 0% Tie = N
" EDGE

MAXIMUM REVEAL OF 2 9r1s.
FOR REVEALS 25/8 - 413/16
SPECIFY LONG ROD.

FOR REVEALS 8~

SPECIFY EXTRA LONG ROD.

LEFT HAND DOOR SHOWN,
RIGHT HAND OPPOSITE.

vvvvv

4040-18TJDSH

JAMB

4041 & 4041DA PUSH SIDE (TOP JAMB) DROP PLATES
PERMITS 120° MAXIMUM OPENING

1
~=~ |_INE 87

—E—Z%% 4

& 3

~e—__DOOR 4
EDGE

pivot or swing

Locate drop plate & shoe from centerline of

LEFT HAND DOOR SHOWN,

clear hinge pin when used. RIGHT HAND OPPOSITE.

PUSH SIDE MOUNT ON:
4040-18G DROP PLATE

4040-18G

MAXIMUM REVEAL OF 29s16.
FOR REVEALS 25/8 - 413/16
SPECIFY LONG ROD

FOR REVEALS 8~

SPECIFY EXTRA LONG ROD.

4041 & 4041DA PULL SIDE (DOOR JAMB) DROP PLATES

OPENING

PULL SIDE MOUNT ON:
4040-18 DROP PLATE

4040-18DS1 DROP PLATE

PERMITS 120° MAXIMUM
- “10 =
JAMB
LINE

o

|
|

15
VWE
1

A\

= Jﬁ_r——?( ?

RIGHT HAND DOOR SHOWN,
LEFT HAND OPPOSITE.

[
=
16

Locate drop plate & shoe from
centerline of pivot.

11/2

* Note: If offset pivots are used. Increase

L] 11

. ——DOOR

these dimensions by 1/8".

4040-18

‘ EDGE INCH| % | & | | ® | 1 [156|15]1%
MM. | 9 16|17 |24 |25 |27 | 38 | 44
INCH| 112 21 27 4484105108311+ 4040-18DS1
® MM. | 49 | 64 | 65 [105|210]|273|275|286
1-800-526-2400
09/06

©2006 SCHLAGE LOCK Company. All rights reserved.

DP # 28466R5




4041PA PUSH SIDE (DOOR MOUNT) DROP PLATES
PERMITS 180° MAX. OPENING, BUTT SIZE 5x5 MAX.

PUSH SIDE MOUNT ON:
4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

IMPORTANT

BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR

VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM

N
G‘I"i/
Cam)
>
.
.
A
v
=]

S REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
\ “'z

[0]

[ 5] 4

o~ % 1

b5 ! IMPORTANT
USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 OR 5/8

e 3

=

N
¢ N\ s7op Face

! Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

f——

1
z LEFT HAND DOOR SHOWN,
RIGHT HAND OPPOSITE.

4041PA DELAY PUSH SIDE (DOOR MOUNT) DROP PLATES

PUSH SIDE MOUNT ON:
4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

, IMPORTANT
DOOR 1% ¢ L T BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
|- £_ VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM
] s1op & 1A3 REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
J 4
ER ! 4
1y - |
012 - IMPORTANT
8 USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 OR 5/8
* z
{ - N s7op FACcE
‘L - L'J_____\L
DOOR IV R N Locate drop plate & shoe from centerline of
~ T EDCE pivot or swing clear hinge pin when used.
61 - 83
5T LEFT HAND DOOR SHOWN,
\/\Le RIGHT HAND OPPOSITE.
4040-18PA 4040-18PADSH1
INCH | 5 | T8 | | 1 |14 12| 1% 14
MM. | 8 | 1719 |24 |27 | 38|43 |44
I CN Ncn] 4 [ 54| 61 7481|874 10[11%
® M.M. [102|138|176/200|210| 214|254|292
1-800-526-2400




4041CUSH PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 110° MAX. OPENING, MIN. TOP RAIL 2 1/2". 4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

1

- | =
16
Je L] IMPORTANT
16 BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM
DOOR —— < REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
| stoe &
RRTCI IMPORTANT
283 mm = @
10 1/2 USE SPACER BLOCK PROVIDED
=90° g FOR FIFTH SCREW. 1/2 OR 5/8
267 mm f .
9 o
235 mm = 100 q
8 3/ o
213 1m = 110 | .
Fo B\ ittt 1
\ ) STOP %:
\ FACE ‘Lw 1
| - —
j Ls *
" EDGE 16
| —_——
_ —
’_-‘ 2% Z’;fm =85° ﬁfﬂ Locate drop plate & shoe from centerline of
71116 . pivot or swing clear hinge pin when used.
195 mm = 90° [y - -
6 o
167 mm = 100
12218~ 1100 LEFT HAND DOOR SHOWN,
RIGHT HAND OPPOSITE.
4041EDA PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 180° MAX. OPENING, MIN. TOP RAIL 2 1/2". 4040-18PA DROP PLATE
1" 4040-18PADS1 DROP PLATE
Bn RCRTI
1 1
e IMPORTANT
BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
‘ DAOR o{ L - % % - VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM
‘ﬁg { { { REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
|
STOP i 3
j— ﬁ T 17
&
* 5‘? IMPORTANT
l«—Q %Up TO 110° USE SPACER BLOCK PROVIDED
D FOR FIFTH SCREW. 1/2 OR 5/8
e—62 111770 160°—=] |
P
. — = — @E‘; ———————— vr i,
STQP x x Locate drop plate & shoe from centerline of
FACE pivot or swing clear hinge pin when used.

3
3
|/'_‘\|
|
L, |
Alﬁ’
@[
‘m

EDGE i INCH | 15 S5 Bl1is[135]14
B MM | 8 |13 | 16|17 |21 | 24| 27| 30| 38
—={ 1% 8+ 13— INCH | 17§ | 1| 25| 315|3%|5+ |54 |6 4|61
515 _Up 0 110 MM.| 43| 44 | 73 | 87 | 94 |140[149]159[170
16

32_111°To 180° LEFT HAND DOOR SHOWN, INCH|612| 875 | 84(8% (8594|953 10131 14
16 RIGHT HAND OPPOSITE. MM, [176|205(210(217|219|241 [248] 275|286

®

1-800-526-2400 4040-18PA 4040-18PADSH1




4041T PULL SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:

PERMITS 120° MAXIMUM OPENING, MIN. TOP RAIL 1 13/16" 4040-18 DROP PLATE
4040-18DS1 DROP PLATE

JAMB LINE

212

\—TOP OF DOOR

Locate drop plate & shoe from

e | centerline of pivot.

U * Note: If offset pivots are used. Increase /
1 these dimensions by 3/8". N
*7 1 wen[ T8 [ 2[5 [R]F[ R [1E[1%
8 4 MM. |6 | 10] 13| 16|21 ]22|24|29| 37

DOOR EDGE INCH 14| 15| 25| 28| 3¢ 35| 45| 43[4 3
wm. | 38] 41 [ 64| 71|79 | 87 [105[117[122
INCH [53-|5 59 31114[217]

:

1}
o
X

\_4040-18DS1

RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE. M.M. [137]143|248(286|553
4041T PULL SIDE (TOP JAMB) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 180° MAXIMUM OPENING, MIN. FACE OF FRAME 1 3/4" 4040T-18 DROP PLATE

(1 . 4040T-18DS1 DROP PLATE
2R 53—
tAMB—/ l%- — —gLl— i
LINE '1_2 - ) -
Tx KX .

> |

NI —

| Iﬁ
i
mia

-

*, 3

3

_\ DJOR EDGE

J B

Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE. \_4040T-18DS1 Y,
4041T PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING, MIN. TOP RAIL 2 1/4" 4040-18PA DROP PLATE

\ 4040-18PADS1 DROP PLATE

v
lo =

Lol
2%

IN

(o]

E EDGE
[sleless

K

RIGHT HAND DOOR SHOWN,
LEFT HAND OPPOSITE.

FACE OF STOP 4040-18PA

5 ON DDOR SIDE ? bo0R

8
|1
T e = — & o
‘ - & OF TRACK HEADER

1
3 3 a ! 5%
4—53 g; 55 34—45——

_—
JAMB LINE 4040-18PADS1

® Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

1-800-526-2400




